Chapter 2 Linear Equations and Functions

Ex 2.3

Answer le.

We know that the equation ¥ =mx + b 15 sa1d to be in slope-ntercept form. The given
equation 15 of the form y=mx + &, where s 13 2, and & 15 5.

Therefore, the given statement can be completed as:
The linear equation ¥ = 2x + 5 1z written in slope-intercept form.

Answer 1gp.

We hawve to find some points that satisfy the equation. For this, choose some values for x
and evaluate the corresponding wvalues of .

x —2[-1]o] 1] 2
y=-2x| 4| 20|24

The points are (-2, 4), (=1, 2), (0, 0), (1, -2), and (2, —4).

Plot the points on a coordinate plane.
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Connect the points with a straight line.

On comparing, we can see that both the graphs have a y-intercept of 0, but the graph of
¥ =—2x has a slope of =2 instead of 1.



Answer 1q.

Step 1 The given function 15 of the form y=|x — & |+ &, where (h, &) 15 the vertex
of the function,

We get the walue of & as =7 and of k as 4. Thus, the vertex 12 (=7, 4.

Plot the vertex of the given function.
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Step 2 Tse symmetry to find two more points.
Eewrite the function.

y—4 =|x+7+4-4
|x+7| = -4

We know that | x +77 | 15 always positive. This means that y will be greater
than or equal to 4. Thus, substitute a value, say, 5 for v,
|z +7 =5-4
=
Weget x+7=1 and x+7=-1

subtract 7 from both the sides of the two equations.
x+7-7=1-7 and T -F=~1-17

xr = —6 and X =-8

The two points are (—6, 2) and (=&, 5.



Plot these points on the graph
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Step 3 Connect the points using straight lines to obtain a V-shaped graph.
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Step 4 sintlarly, graphy =| x | onthe same axis.
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It 15 clear from the figure that the graph of y =|x +7 | +4 15 the graph of
y=|x|translated up 4 units and 7 units left

Answer 22e.

The standard form of a linear equation 1s
Ax+By=C
where A and B are non zero.
Here we need to describe how to graph an equation of the form Ax+ By=C".

To describe how to graph an equation of the form Ax+ By=C first we write the
equation in standard form.

Then, we identify the x -intercept by letting v =0 and solving forx. And we use x-
intercept to plot the point where the line crosses the x -axis.

After that we 1dentify the y -intercept by letting x = 0 and solving for y . And then we use
y -intercept to plot the point where the line crosses the y -axis.

Finally we draw a line through the two points.

In this way we graph an equation of the form 4x+ By=C.

Answer 2gp.

We need to compare the graph of the given equation y=x-—2 with the graph of the
equation y=x.
The slope intercept of the equation of a line 1s
y=mx+b
where m be the slope of the line and b be the y -intercept.



Rewrite the given equation in the form (2), we have
y=x—-2

y=1-x+(—2) (2)

Comparing the equation (2) with the equation (1), we have
m=1b=-2

The graph of (2) 1s a line with the slope 1 and y-intercept -2.

Companng the equation y = x with the equation (1), we have
Fy=x
y=1-x+0
m=1=0 (3)

The graph of (3) 1s a line with the slope 1 and y-intercept 0.

The graph of the equation y=x—2 and y =x are given below:
-

Therefore the graphs of y=x—2 and y = x both have a slope of 1, but the graph of
v = x—2 has a y-intercept of -2 instead of 0



Answer 2q.

(Given relation 1s

Output

- (1)

Here we need to say the given relation 1s a function or not.

A function 1s a relation 1n which NO two ordered pairs have the same first coordinate.
the given relation (1), is a function because none of the four ordered pairs have the same

first coordinate.

S0, we can say that the given relation (1), 15 a function.

Answer 3e.

We have to find sotme points that satisty the equation. For this, choose some values for x

and evaluate the corresponding values of v
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=2

0

3

&

The points are (-2, =63, (-1, =2, (0, 03, (1, 2), and (2, 6).



Plot the points on a coordinate plane.
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cimilarly, graph the equation v = x on the same coordinate plane.
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On comparing, we can see that both the graphs have a y-intercept of 0, but the graph of
¥=13x has a slope of 3 instead of 1.

Answer 3gp.

We have to find some points that satisty the equation. For this, choose some values for x
and evaluate the corresponding walues of ¥

x |-2[-1]o1]2
y=dx|-8|4|0[4]8

The points are (-2, —8), (=1, =4, (0, 0, (1, 4), and (2, 8.

Flot the points on a coordinate plane.
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Connect the points with a straight line.

Jn comparing, we can see that both the graphs have a y-intercept of 0, but the graph of
v=4x has a slope of 4 instead of 1.

Answer 3q.

Step 1 The given function 15 of the form y=|x — & | + &, where (&, &) 1z the vertex
of the function.

We get the value of 2 as 1 and of & as =5 Thus, the vertex of the given
function 1z {1, =50



Flot the vertex
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Step 2 Tze symmetry to find two more points.
substitute any value, say, 0 for v 1n the given function.

0= Lx-1]-5
z
Add 5 to both the sides of the equation.
0+5 = %|x—1|—5+5
5 = l|x—1|
2

Multiply both sides by 2.
1
5(2) = 5|x-1((2)

10 = |z -1

Weget x—1=10 and x—-1=-10.

Ldd 1 to both the sides of the two equations.
x=1+1=104+1 and x—1+1=-10+1

xr =11 and r=-5

The two points are (11, 0) and (=9, 0).



Plot these points on the graph
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Step 3 Connect the points using straight lines to obtain a V-shaped graph.
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Step 4

Answer 4e.

Sirntlarly, graphy =|x | onthe same axis.
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It 15 clear from the figure that the graph of ¥ = %|x - 1|— 5 13 the graph

of y = | x | wertically shrunk by a factor of % . translated 1 unit to the right

and shifted down by 5 units.

We need to compare the graph of the given equation y=-—x with the graph of the

equation y=1x.
The slope intercept of the equation of a line 13

y=mx+bh N
where m be the slope of the line and & be the y -intercept.

Rewrite the given equation in the form (2), we have
y=-x

y=(-1)== (2)

Comparing the equation (2) with the equation (1), we have
m=—Lb=0
The graph of (2) 1s a line with the slope -1 and y-intercept 0.



Comparing the equation y = x with the equation (1), we have

y=x
y=1-x+0
m:].,b:ﬂ ...... |-'3":|

The graph of (3) 1s a line with the slope 1 and y-intercept 0.

The graph of the equation v=—x and y=x are given below:
h

Therefore the graphs of y =—x and y = x have a y-intercept of 0. but the graph of
v =—xhas a slope of -1 instead of 1.

Answer 4gp.

The given equation 1s

y=-x+2
The slope intercept of the equation of a line 1s

y=mx+& (1)
where m be the slope of the line and b be the y -intercept.



Rewrite the given equation in the form (1), we have
y=—x+2

f{x]=(—l}x+2 v )
Comparing the equation (2) with the equation (1), we have
m=—1b=2

Therefore the y-intercept is 1, so the point is (0,2).
Again the slope 1s _Tl So, we plot a second point on the line by starting at (0.2) and
then moving down 1 unit and right 1 unit. The second point 15 (1,]}_

Now, we draw a line through the two points (D, 2:] and (]__,1} as follows:




Answer 4q.

The given lines are

Line 1: through (-3.-7) and (19)

Line 2: through (—]__.—4] and (D,—E)

Here we need to say that the lines are parallel, perpendicular, or neither.

The slope intercept of the equation of a line 1s
y=mx+& (D)

where m be the slope of the line and & be the y -intercept.

For Line 1. putting the point (—3,—7) in the equation (1). we get
y=mx+tb
~T=m-(-3)+b
—J=-3m+L (2)
Again_we putting the point (L 9) in the equation (1), we get
y=mx+b
O=m-1+5b
Q=m+b
Subtracting the equation (2) from (3), we have
9+T=m+b+3m—>b

16 = 4m
m=4
Therefore the equation of the line passing through the points (—3,—7) (L9) 1s |y =4x

Lkd

For Line 2, putting the point (—1,—4) in the equation (1), we get

y=mx+b

—A=m-(-1)+b

—4=—m+b = ':__:I_:|
Again, we putting the point (0.—2) in the equation (1), we get

y=mx+b

—2=m-0+b

—2=b =TT, (3)
Subtracting the equation (2) from (3), we have

2+4=b+m—b

2=m

Therefore the equation of the line passing through the points [—1,—4:1 (ﬂ,—l] 15 |y=2x




Therefore the graph of the lines Line 1: through [—3,—?) and {],9] and
Line 2: through (—1,—4) and (0,—2) are parallel, perpendicular, or not we shown below:

-2

From the graph Linel: through (—3,—7) and (1,9) and Line 2: through (—1—4) and
(ﬂ, —1) are neither parallel nor perpendicular.
Answer 5e.

We need to find some points that satisfy the equation. For this, choose some values for x
and evaluate the corresponding walues of y.

x -2 =-1|0]1]2
y=x+5| 3| 4|26 |7

The points are (=2, 3), (=1, 4), (0, 5), (1, 6), and (2, 7).

Plot the points on a coordinate plane.
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Connect the points with a straight line.
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simitlarly, graph the equation v = x on the same coordinate plane.
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(On comparing, we can see that both the graphs have a slope of 1, but the graph of
¥=x+ 5 has ay-intercept of 3 instead of 0.

Answer 5gp.
STEP 1 The slope-intercept form of a linear equation 15 ¥ =mx + & The given

equation g already in the slope-intercept form.

: : : : .2
On comparing the given equation with v =smx + &b, we find that s 15 —,

and & 15 4



STEP 2 The y-intercept 15 4. Plot the point (0, 4) on a coordinate plane where the
line crosses the y-amis.
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STEP 3 Use the slope to plot a second point on the line. Since the slope 15 % start

at (0, 4) and then mowve 2 units up. MNow, mowe 5 units to the right
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The second point 15 (5, 6.



STEP 4 Finally, draw a line through the two points.
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Answer 5q.

We know that the general form of an absolute walue function 1z y=a|x — & | + k&, where
(%, &) 15 the vertex of the function.

From the given graph, we note that the vertex 13 (5, 1) Thus, the value of k15 D and of &
15 1.

substitute O for &, and 1 for & 10 the general form.
y=a|x-5+1

One of the coordinates (2, 4) 15 given. Substitute 2 for x, and 4 for ¥ in the equation.
4 = .:1| 2—=25 | +1
4 = 3a+1

mubtract 1 from both sides of the equation.
4-1=3a+1-1
4= Za

Diwvide both the sides by 5.
3 3

_— = _ﬂ
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Therefore, the required equation of the given graph sy =|x - 5|+ 1.



Answer 6e.

We need to compare the graph of the given equation y=x—2 with the graph of the
equation y=1x.
The slope intercept of the equation of a line 15
y=mx+b (1)
where m be the slope of the line and b be the y -intercept.

Rewrite the given equation in the form (2), we have

y=x—-2

y=1-x+(—2) ______ (2)
Comparing the equation (2) with the equation (1), we have

m=1b=-2
The graph of (2) 1s a line with the slope 1 and y-intercept 2.

Comparing the equation y = x with the equation (1), we have

y=x
y=1-x+0
m=1b=0 (3)

The graph of (3) 1s a line with the slope 1 and y-intercept 0.

The graph of the equation y=x—2 and v = x are given below:
5

Therefore the graphs of y=x—2 and y = x both have a slope of 1, but the graph of
¥ =x—2 has a y-intercept of -2 instead of 0.



Answer 6gp.

The given equation is
1
y=—x-3
2

The slope intercept of the equation of a line 1s
y=mx+b (1)
where m be the slope of the line and b be the y -intercept.

Rewrite the given equation 1n the form (1), we have

1
==x—3
¥ EI

f{x}z%x—i—(—ﬂ ______ o)
Comparing the equation (2) with the equation (1), we have
1

m=—_5b=-73
2

Therefore the y-intercept is 1, so the point is (0,-3).
Again the slope isé_ S0, we plot a second point on the line by starting at (ﬂ,—E} and
then moving up 1 unit and right 2 units. The second point is(2,—2).

Now, we draw a line through the two points [ﬂ,—E} and [1 —2} as follows:




Answer 6q.

Given equation 1s

==+ 0 i (1)
Suppose, we put x=—1.—2,—3.1. 2.3 in equation (1), we have

y=8,1318 -2 -7 -12

The graph of the equation y=-5x+3 is shown below:

10 15

Answer 7e.

We need to find some points that satisty the equation. For this, choose some values for x
and evaluate the corresponding values of »

x -2(-1]) 0f1]z
y =2x-1|-3|=-3[-1[1] 3

The points are (—2, —5), (=1, =3), (0, 1), (1, 13, and (2, 3.



Flot the points on a
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coordinate plane.
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similarly, graph the equation y = x on the same coordinate plane.

On comparing, we can see that the graph of v = 2x — 1 has a slope of 2 and the graph of
v=xhas aslope of 1. The graph of y=2x — 1 has a slope of 2 and the graph of ¥ = x has
aslope of 1.

Answer 7gp.
STEP 1 The slope-intercept form of a linear equation 15 ¥ = mx + & Eewrite the
given equation.
y=x+5
iDn comparing the given equation with y =mx + &, we find that s 12 1, and
bis 5
STEP 2 The y-intercept 15 3. Plot the point {0, 2% on a coordinate plane where the

line crosses the y-ams.
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. : . . i
STEP 3 Jse the slope to plot a second point on the line. Since the slope 15 1 or 1
start at (0, 57 and then mowe 1 unit up. Mow, mowe 1 unit to the right.
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The zecond point 15 (1, &)
STEP A Finally, draw a line through the two points.
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Answer 7q.

STEP 1

raph the boundary line of the inequality.

In order to obtain the boundary line, replace the inequality sign with =
sign. Then, we get an equation of the form y = ¢ which 1z the equation of a

horizontal it

In this case,
(0, =2).

ne passing through (0, ).

the walue of £ 13 —2. This means that v = —2 passes through



Graph the boundary line y = —2. Since = 13 the inequality sign used, draw a
dashed line.

Y

STEP 2 Test a point.
Let us take a test point (0, 0) which does not lie on the boundary line.
substitute O for v and check if the test point satisfies the given inequality.
0=-2 TRUE

The test point 15 a solution of the inequality. Shade the half-plane that
containg (0, 0.
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Answer 8e.

We need to compare the graph of the given equation y=-3x+2 with the graph of the
equation y=1x.
The slope intercept of the equation of a line 1s
y=mx+b (1)
where m be the slope of the line and b be the y -intercept.

Eewrite the given equation in the form (2), we have
y="3x+2

y:(—3)-x+2 vemeee 123

Comparing the equation (2) with the equation (1), we have
m=-3b=12

The graph of (2) 1s a line with the slope -3 and y-intercept 2.

-

Comparing the equation y = x with the equation (1), we have

y=x
y=1-x+0
m=1=0 e (3)

The graph of (3) 1s a line with the slope 1 and y-intercept 0.

The graph of the equation y=—-3x+2 and y=x are given below:
¥

Therefore the graphs of y=—3x+2and yv=x have the slope of -3 and 1, but the graph
of y=-—3x+2 has a y-intercept of 2 instead of 0.



Answer 8gp.

The given equation 1s

F(x)=1-3x
The slope intercept of the equation of a line 1s

y=mx+b (1)
where m be the slope of the line and » be the y -intercept.

Eewrite the given equation in the form (1), we have
f(x)=1-3x

S(x)=(3)x+1 IR 2
Comparing the equation (2) with the equation (1), we have
m=-—73b=1

Therefore the y-intercept is 1, so the point is (0,1).
Again the slope 1s _T3 So, we plot a second point on the line by starting at (ﬂ,l} and

then moving down 3 units and right 1 unit. The second point 1s (1, ~2] -

Now, we draw a line through the two pont [0,1) and [l,—l) as follows:

-8 £ 4

Answer 8q.
Given equation 1s
dx+3y=-24 (1}
Suppose, we put x=—1.—2,-3.1. 2.3 in equation (1), we have
y=—667—-533,4-933 106712



The graph of the equation 4x+3y=-24 1s shown below:
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Answer 9e.
STEFP 1 The slope-intercept form of a linear equation 15 ¥y =mx + & The given

equation 18 already in the slope-intercept form.

On comparing the given equation with v = mx + &, we find that »2 12 =1,

and & 15 =3,

STEP 2 The y-intercept 15 —3. Plot the point {0, =2 on a coordinate plane where
the line crosses the y-axis.
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STEP 3 Jse the slope to plot a second point on the line. Since the slope 13 -1, or

_Tl, start at (0, —3) and then mowe 1 unit down Now, mowe 1 unit to the

right.
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The second point 13 (1, —4).

STEP 4 Finally, draw a line through the two points.
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Answer 9gp.
STEP 1 The slope-intercept form of a linear equation 15 ¥ = mex + &, Eewrite the
given equation.
fxy=—=+10

On comparing the given equation with y = mx + &, we find that 2 15 -1,

and b1z 10



STEP 2 The y-intercept 15 10, Plot the point (0, 10) on a coordinate plane where
the line crosses the y-axis.
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STEP? Tze the slope to plot a second point on the line. Since the slope 15 -1 or

-1 . .
— , start at {0, 107 and then mowve 1 unit down. MNow, move 1 unit to the

right.
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The second point 13 (1, 9.



STEP 4 Finally, draw a line through the two points.
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Answer 9q.
STEP | Graph the boundary line of the inequality.

In order to obtain the boundary line, replace the inequality sign with “="
Then, we get an equation of the form 2x — 5y =10,

substitute O for v in above equation and selve for x to find the x-intercept.

Ex—ﬁ(lil):l[:]
2x =10
¥ =5

The x-intercept 15 5. A point that can be plotted on the graph 15 (5, 0.

Hext, replace x with 0 and solve for v to find the y-intercept.

2(0) -5y = 10
-5y = 10
y=-z

mince the y-intercept 15 —2, another point that can be plotted on the graph 1s
(0, =23,



Plot the points (D, ), and (0, —=2) onthe graph and draw a line passing
through them. Since = 15 the inequality sign used, draw a solid lhine.

STEP 2

A
y

M W B dn

Test a point.

Let us take a test point (0, 0 which does not lie on the boundary line.
substitute O for v, and 0 for x. Check if the test point satisfies the given
inequality.

2(0) - 5(0) = 10

0=10 FALSE

The test point 15 not a solution to the inequality. Shade the half-plane that
does not contain (0, 0,
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Answer 10e.
The given equation 1s
y=x—-6
The slope intercept of the equation of a line 15
y=mx+b )
where m be the slope of the line and 5 be the y -intercept.

Rewrite the given equation in the form (1), we have
y=x—6
y=x+(-6) (2)
Comparing the equation (2) with the equation (1), we have
m=1b=—6

Therefore the y-intercept is -6, so the pomt is (0,—6).
Again the slope 1s % So, we plot a second point on the line by starting at [D—ﬁ} and

then moving up 1 unit and right 1 unit. The second point 1s (1, ~5.

Now, we draw a line through the two points (0, —6:} and (1,—5) as follows:

This 15 the graph of the equation y=x-6.



Answer 10gp.

(G1ven that the body length of a fast growing calf 1s modeled by

y=6x+48
The slope intercept of the equation of a line 1s

y=mx+b (1)
where m be the slope of the line and b be the y -intercept.

The standard form of equation (1) 1s

y=6x+48
To interpret the slope of the equation (1) 1s 6, represent the calf s rate of growth in inches
per month. The y -intercept. 48, represents a newbormn calf s body length 1n inches.
Now, to estimate the body length of the calf at age 10 months by starting at 10 on the x -
axis and moving up until we reach the graph. Then move left to the y-axis. At age 10

months, the body length of the calf 1s about 108 inches.

The graph of the equation y =6x+48 15 shown below:

(10,108)

y=06x+48




Answer l1lle.

STEP 1 The slope-intercept form of a linear equation 15 y =mx + & The given
equation 15 already in the slope-intercept form.

On comparing the given equation with v = mx + &, we find that #2 13 2, and

b1z 6

STEP 2 The y-intercept 15 6. Plot the point {0, 6) on a coordinate plane where the
line crosses the y-axis.
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STEP 2 Tze the slope to plot a second point on the line. Since the slope 15 2, or T

start at (0, &) and then mowe 2 units up. Now, mowve 1 unit to the right.

A

"

The second point 1z (1, 8).



STEP 4 Finally, draw a line through the two points.

5]

Answer 11gp.

STEP 1 A linear equation of the form Ax + By =, where 4 and £ are not both
zero, 18 said to be 1n standard form. Thus, the given equation s already 1n
standard form.

STEP 2 Identify the x-intercept.

The x-coordinate of a point where a graph intersects the x-amis 15 the
x-intercept. For finding the x-intercept, first substitute 0 for v in the
equation.

2x + 50 =10
Iezt, solve for x.
2x+0 =10
2x =10

Divide each side by 2.

2 _ 10
2 2
x =35

since the x-intercept 15 5, the graph of the given equation crosses the
x-axis at (0, ).

STEP 3 Identity the y-intercept.

The y-coordinate of a point where a graph intersects the y-amis 15 called a
y-intercept. Substitute 0 for x in the equation to find the y-intercept.
2000+ Sy =10



Mext, solve for y.
Sy = 10

y =z

The y-intercept of the line with the given equation 15 2. Thus, the line
crosses the y-ams at (0, 2).

STEP 4 For graphing the given equation, first plot the points (5, 0 and (0, 2 ona
coordinate plane.

,_
(¥
ot

A

Ll
5} ]

6 -5 4 -3 -2 -1 1 2 3 4

i
[N
x

i ' ¥
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-51

MNow, draw a line through the two points.

g1+

1
on



Answer 12e.
The given equation 1s
y=3x—4
The slope intercept of the equation of a line 1s
y=mx+b (1)

where m be the slope of the line and b be the y-intercept.

Rewrite the given equation 1n the form (1), we have
y=3x—-4
y=3x+- (2)

Comparing the equation (2) with the equation (1), we have
m=3b=-4

Therefore the y-intercept i1s —4, so the point 1s (0,—4).
Again the slope is % - So, we plot a second point on the line by starting at (0,—4) and
then moving up 3 units and right 1 unit. The second point is (1.—1) .

Now, we draw a line through the two points (0,—4) and (1.—1) as follows:

-8 -6 -4

Thus 1s the graph of the equation y =3x—4.



Answer 12gp.
Given equation 1s
3x—2y=12 SRR f i
The standard form of a linear equation 1s
Ax+ By=C
where A B and C are constants.

We write the equation (1) in standard form is

3x—-2y=12
To 1dentify the x -intercept putting y = 0 1n the equation (1) and solving for x .
3x-2(0)=12 [Lety=0]
x=4 [th‘e for x]

S0, the x -intercept 1s 4.
From the x -intercept the point is (4,0).
Again_ to identify the y -intercept putting x =0 1n the equation (1) and solving for y.
3(0)-2y=12 [Letx=0]
y=—"0 ISGI‘VE fr:rry]
So, the y -intercept the point is (0,—6).

Now, we draw a line through the points {4,[!:] and (D—ﬁ} as follows:

15

10

-15 -10 15

This 1s the graph of the equation 3x—2y =12



Answer 13e.

STEP 1 The slope-intercept form of a linear equation 15 ¥ =mx + & The given
equation 15 already in the slope-intercept form.

On comparing the given equation with y = mex + &, we find that s 15 4, and

b1z -1

STEP 2 The y-intercept 15 —1. Plot the pownt {0, —=1) on a coordinate plane where
the line crosses the v-axis.

Ay
at

]

STEP 2 TTze the slope to plot a second point on the line. ZSince the slope 15 4, or ? ;

start at (0, =1 and then mowe 4 units up. Now, mowve 1 unit to the right

T
11-
: a3
2
4 X
it 1 -
-4 -3 2 -1 1 2 3 4
1"{1.1. 1
.2-
.3-
-4}
Y

The second point 13 (1, 3.



STEP 4 Finally, draw a line through the two ponts.

]

Answer 13gp.

We know that the graph of an equation of the form x = 15 the wertical line through (e, 07,
where © 15 the x-intercept.

Thus, for graphing the given equation, plot the intercept (1, 0 on a coordinate plane and
draw a vertical line through it Every point on the line must have an x-coordinate of 1.

1_1. i
4.
v=1
3.
:,_l.
1.
(1,1 x
- . - ; . * : ; S
A F @ 2 3 4
-4
-2l
al
41
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Answer 14e.
The given equation 1s
2
y=—x—2
3

The slope intercept of the equation of a line 1
y=mx+b .. (D
where m be the slope of the line and b5 be the y -intercept.



Rewrite the given equation in the form (1), we have

2
_}-'=§I—2
y=§x+{—2} ...... (2)
Comparing the equation (2) with the equation (1), we have
m= %,b =—2

Therefore the y-intercept is —2. so the point 1s (0,-2).
Again the slope 15 % . S0, we plot a second point on the line by starting at (D,—E) and

then moving up 2 units and right 3 units. The second point 1s (3,0).

Now, we draw a line through the two pomnts (0, —2} and (3,[}] as follows:

-3 £

-10

This 1s the graph of the equation yzgx—i_



Answer 14gp.

Given equation 1s

y=—4 N
The standard form of a linear equation 1s
Ax+ By=C

where A B and C are constants.

The graph of y =—4 1s the honizontal line that passes through the point (ﬂ—4] 3
So, every point on the line has a y -coordinate of —4

Now, we draw a line through the points (0, —4} as follows:

15

10

-15 -10 5 (0,0) 5 10 15

“(0,—4)

-10

This 1s the graph of the equation y=—4 .

Answer 15e.

STEP 1

The slope-intercept form of a linear equation 15 v =mx + & The given
equation 15 already 1n the slope-intercept form.

. . . ) . 1
On comparing the given equation with y =mex + 5, we find that s 15 — —,

and b1z —1.



STEP 2 The y-intercept 15 —1. Plot the point {0, 1) on a coordinate plane where
the line crosses the y-axs.

Ay
‘1.

-

STEP? TTze the slope to plot a second point on the line. Since the slope 18 — % of

-1 . .
E’ start at (0, —1) and then mowe 1 unit down MNow, mowve 2 units to the

right.

Ay

[ 2]

The second point 15 {2, —=2).



STEP A Finally, draw a line through the two points.

Ay

-4
L )
Answer 16e.
The given equation 1s
5
flx)= —Ex+1
The slope intercept of the equation of a line 1s
y=mx+& . A1)

where m be the slope of the line and b be the y -intercept.

Eewrite the given equation in the form (1), we have

f{l’}{—ﬂxﬂ ______ )

Comparing the equation (2) with the equation (1), we have
5

m=——_>5=1

4
Therefore the y-intercept is1, so the point is (0.1).
Again the slope 1s _?5 - So. we plot a second point on the line by starting at (0.1) and

then moving down 5 units and right 4 units. The second point 1s (4—4) .



Now, we draw a line through the two points (0.1) and (4, —4) as follows:

x
-& -6 B
-10
. . : )
This is the graph of the equanonf{x}:—4x+l.
Answer 17e.
STEP 1 The slope-intercept form of a linear equation 15 ¥y =mx + 5. The given

equation 15 already in the slope-intercept form.

. . . . .3
On comparing the given equation with y =mx + &, we find that s 15 —,

and b 13 =3

STEP 2 The y-intercept 15 =3, Plot the point {0, =3 on a coordinate plane where
the line crosses the y-axis.

Ay
at

]



STEP 2 Tse the slope to plot a second point on the line. Since the slope 15 g , start

at (0, =37 and then mowe 3 units up. Now, move 2 units to the right.

Ay
‘1.

X
- - o
4 4 -2 - 4
a
Y
The second point 13 (2, 0.
STEP A Finally, draw a line through the two points.
Ay
"




Answer 18e.
The given equation 1s
5
f(x)= 5 x+4

The slope intercept of the equation of a line 1
y=mx+b {1}

where m be the slope of the line and 5 be the y -intercept.

Rewrite the given equation in the form (1), we have

f{I}=§x+4 _____ (2)

Comparing the equation (2) with the equation (1), we have

3
m=—_b=4
3

Therefore the v-intercept 154, so the point 1s (ﬂ,-’-l}.
Again the slope 1s % - So, we plot a second point on the line by starting at (0,4) and then
moving up 3 umits and right 3 units. The second point 1s (3,9}.

Now. we draw a line through the two points (0.4) and (3.9) as follows:

30 Y

25

-10 15 20 25

Thus 1s the graph of the equationf{x}= §I+4.



Answer 19e.

STEP 1 The slope-intercept form of a linear equation 15 ¥ = mx + & The given
equation 1g already in the slope-intercept form.

On comparing the given equation with y = mx + &, we find that 2 15 -1.5,
and & 13 2.

STEP 2 The y-intercept 15 2. Plot the point (0, 2) on a coordinate plane where the
line crosses the y-asmis.

]

4|
Y

STEP 2 Tse the slope to plot a second point on the line. Since the slope 15 =15 or

E’ start at (0, 2) and then mowe 3 units down, Now, move 2 units to the

right.

The second point 1z (2, —1).



STEP 4 Finally, draw a line through the two points.

Answer 20e.
The given equation 1s
Sflx)=3x-15
The slope intercept of the equation of a line 1s
y=mx+b (1)
where m be the slope of the line and 5 be the y -intercept.

Rewrite the given equation in the form (1), we have
f(x)=3x-15
Fix)=3%+-18}) s (2)
Comparing the equation (2) with the equation (1), we have
m=3b=—15
Therefore the y-intercept 1s —1.5
. 50 the point is (0, —1_5:]_

Again the slope 1s % So, we plot a second point on the line by starting at ('D, -1 .5] and

then moving up 3 units and right 1 unit. The second point is (1,1.5).



Now, we draw a line through the two ponts (0, —1-5:1 and (1,1_5] as follows:

This is the graph of the equation £(x)=3x-1.5.
Answer 21e.

A line with equation ¥ = mx + & has slope s and y-intercept & On comparing the given
equation with the general form, we find that the slope of the given line 15 2 and the

v-intercept 15 3. Thus, the graph of the given equation should intersect the y-axs at (0, 3.

The error in graphing the equation 15 that the slope and the y-intercept are switched
around.

In order to correct the error, first plot the point (0, 3) on a coordinate plane.

3¢ (1, 3}

=Y




: . : . 2
Use the slope to plot a second point on the line. Since the slope 15 2, or I’ start at (0, 3)

and then move up 2 units and right 1 umt The second point 15 (1, 2).

o

54—e(l, 5)

ae (1, 3)

A
=Y

B g o

Finally, draw a line through the two points.

=y




Answer 22e.
The given equation 1s
y=4x-2
Here we need to correct the error in the graph of vy =4x—2 1n given below.

¥

The slope intercept of the equation of a line 1s
y=mx+& (1)
where m be the slope of the line and & be the y -intercept.

Eewrite the given equation in the form (1), we have
y=4x-2

Comparing the equation (2) with the equation (1), we have
m=4b=-2

Therefore the y-intercept is the point (0,—2).
Again the slope 13 % . 50, we plot a second point on the line by starting at (ﬂ,—ﬂ) and

then moving up 4 units and right 1 unit. The second point is (1,2).



In graphing the equation, to find the second point by staning at [[J, —2) and then move up
1 units and right 4 units 1s not correct. So the graph of the equation 1s not correct.

To find the correct graph, we draw a line through the two points (0,-2) and (1,2) as
follows:

-3 -2 -1

Answer 23e.

The slope-intercept form of a linear equation 15 ¥y = mx + & For writing the given
equation in slope-intercept form, first we have to subtract 4x from both the sides.
dx -3y —4dx =18 - 4x

=3y = 18— 4x

Iow, 1solate v For this, divide both the sides by =3,
=3y  lE-4x

=3 -3

4 4
= -6+ = —x—6
¥ onr_;u 3x

. . - 4
The slope-intercept form of the given equation 18 ¥ = —x — & Thus, the correct answer

15 choice C.



Answer 24e.
(G1ven equation 1s
x—y=4 R )
The standard form of a linear equation 1s
Ax+ By=C
where A B and C are constants.

We write the equation (1) in standard form is

x—y=4
To identify the x -intercept putting y =0 1n the equation (1) and solving for x .
x—0=4 [Lety:ﬂ]
x=4 [th-'e for I]

S0, the x -intercept 1s 4.
From the x -intercept the point is (4.0).
Again_ to identify the y -intercept putting x =0 1n the equation (1), and solving for y .
0-y=4 [Letx=0]
y=—4 [Snlva for _];]
So. the y -intercept the point 15 (0,—4).
Therefore the x and y -intercept of the line with the equation x—y =4 15 4 and —4

Answer 25e.

The x-coordinate of a point where a graph intersects the x-aous 15 called an x-intercept.

For finding the x-intercept, substitute 0 for ¥ in the equation.
x+ 50 =-15

Mow, solve for x.
x4+ 0 =-15

xr=-15
The x-intercept of the line with the given equation 15 =13,

The y-coordinate of a point where a graph intersects the y-amis 15 called a y-intercept.

cubstitute O for x 10 the equation to find the y-intercept.
0+ 5y=-15



maolve for v

5y = =15
S5y —15
5 5
¥y o= -3

Therefore, the y-intercept of the line with the given equation 15 =3

Answer 26e.

Given equation 1s

Ix—4y=-12
The standard form of a linear equation 1s
Ax+By=C

where A B and C are constants.

We write the equation (1) in standard form 1s

3x—4y=-12
To identify the x -intercept putting y =0 in the equation (1) and solving for x .
3x—4(ﬂ)=—12 [Let_y:[}]
x=—4 [Solv-:—; for x]

S0, the x -intercept 1s —4.
From the x -intercept the point is (—4.0).
Again_ to identify the y -intercept putting x =0 1in the equation (1), and solving for y .
3(0)-4y=-12 [Letx=0]
y=4 [Snlve for _3.:]
So, the y -intercept the point is (0.4).
Therefore the x and y -intercept of the line with the equation 3x—4y=-12 15 —4 and 4.

Answer 27e.

The x-coordinate of a point where a graph intersects the x-aois 15 called an x-intercept.

For finding the x-intercept, first substitute 0 for v 1n the equation.
2x—0=10

Now, solve for x.

2w =10
2z 10
2 2
xX= J

The x-intercept of the line with the given equation 15 5.



The y-coordinate of a point where a graph intersects the v-axis 15 called a y-intercept.

substitute 0 for x in the equation to find the y-intercept.
20—y =10

solwe for y
-y =10

vy = =10

Theretfore, the y-intercept of the line with the given equation 15 =10

Answer 28e.
Given equation 1s
dx—S5y=20 . (1)
The standard form of a linear equation 1s
Ax+By=C
where A_B and C are constants.

We write the equation (1) in standard form 1s

4x—5y=20
To identify the x -intercept putting y = ( in the equation (1) and solving for x
4x-5(0)=20 [Lety=0]
x=5 [Sclve for x]

=0, the x -intercept 1s 5.
From the x -intercept the point is (5,0).
Again_to identify the y -intercept putting x =0 in the equation (1), and solving for y .

4(0)-5y=20 [Let x =0]
yv=—4 [Solve fur_y]

50, the x -intercept 1s —4.
From the y -intercept the pointis (0,—4).
Therefore the x and y -intercept of the line with the equation 4x—5y =20 1s 5 and 4.

Answer 29e.

The x-coordinate of a point where a graph intersects the x-axis 12 called an x-intercept.

For finding the x-intercept, first substitute 0 for ¥ 1n the equation

—6x + B0 =36
Mow, solve for x.
—6hx = =36
-6x 36
-6 -6
=%

The x-intercept of the line with the given equation 1s 6.



The y-coordinate of a point where a graph intersects the v-axis 12 called a y-intercept.

substitute O for x in the equation to find the y-intercept.
-6 + By =-36

Mext, solve for v

By = —36
By 36
8 8
y=-45

Therefore, the v-intercept of the line with the given equation 15 —4.5.

Answer 30e.

Given equation 1s

S5x—6y=30 I i )
The standard form of a linear equation 1s

Ax+By=C
where A_B and C are constants.

We write the equation (1) in standard form 1s

5x—6y =30
To identify the x -intercept putting y =0 1n the equation (1) and solving for x .
5x—-6(0)=30 [Lety=0]
x=6 [Soh‘e for x]

S0, the x -intercept 15 6.
From the x -intercept the point is (6,0).



The x -intercept of the graph 5x—6y =30 as follows:

Answer 31e.
STEP |

STEP 2

STEP 2

¥

=
-

& linear equation of the form Ax + By =, where 4 and & are not both
zero, 15 said to be in standard form Thus, the given equation is already in

standard form.
Identify the x-intercept

The x-coordinate of a point where a graph intersects the x-aois 15 the x-
intercept. For finding the x-intercept, first substitute 0 for ¥ 1n the

equation.

x+40 =8

Mezxt, solve for x.
x+0 =28

=23
since the x-intercept 15 8, the graph of the given equation crosses the x-
axis at (8, 0.
Identify the y-intercept.

The y-coordinate of a point where a graph intersects the v-amis 15 called a
y-itercept. Substitute 0 for x 1in the equation to find the y-intercept.

O+4py=42



Iext, solve for v

dy = &
4y B
4 4
v =2

The y-intercept of the line with the given equation 15 2. Thus, the line
crosses the y-amis at (0, 2).

STEP 4 For graphing the given equation, first plot the points (3, 00 and (0, 2) on a
coordinate plane.




Answer 32e.

Given equation is

2x—6y=-12 .- (1)
The standard form of a linear equation 1s
Ax+By=C

where A B and C are constants.

Rewrite the equation (1) 1 standard form 1s

2x—6y=—12
To identify the x -intercept putting y = 0 in the equation (1) and solving for x .
Ex—ﬁ(ﬂ) =12 [Letyzﬂ]
x=-0 [Sulve for x]

So, the x -intercept 1s —6.
From the x -intercept the point is (—6.0).
Again, to identify the y -intercept putting x =0 in the equation (1), and solving for y .
2(0)-6y=-12 [Letx=0]
y=2 [Solve fc-ry]
S0, the v-intercept 1s —6.
From the y -intercept the point 1s (0,2).
Therefore the x and y -intercept of the line with the equation 2x—6y=-12 15 —6 and 2.

The graph of the equation 2x—6y=-12 as follows:




Answer 33e.
“We lnow that the graph of an equation of the form x = ¢ 12 the vertical line through (z, 0),

where ¢ 15 the x-intercept.

Thus, for graphing the given equation, plot the intercept (4, ) on a coordinate plane and
draw a wvertical line through it Every point on the line must have an x-coordinate of 4.

j_. A
¥
5.
v =4
4.
37
21
-1.
{4, 0) x
A 1 2 3 4 5
Y Y
Answer 34e.
Given equation 1s
w==2 e (1)
The standard form of a linear equation is
Ax+By=C

where A_B and C are constants.

The graph of y=-2 is the horizontal line that passes through the point (I],—Z] .
S0, every point on the line has a y -coordinate of —2.



Now. we draw a line through the points (0,—2) as follows:

15

10

-15 -10 -5 ] 10 15

-10

-15

This 15 the graph of the equation y=-—2.

Answer 35e.

STEP 1 A linear equation of the form Ax + By =, where 4 and B are not both
zero, 18 said to be 1n standard form Thus, the given equation 12 already 1n
standard formm.

STEP 2 Identify the x-ntercept.

The x-coordinate of a point where a graph intersects the x-asmis 15 the x-
intercept. For finding the x-intercept, first substitute 0 for ¥ 1n the
equation.

Sx—-0=3



Iezt, solve for x.

Sr =13
5;:_3
] ]
3
i
5

: : .3 : :
since the x-intercept 1s z the graph of the given equation crosses the x-

axis at [E D].
5
STEP 3 Identity the y-intercept.

The y-coordinate of a point where a graph intersects the yv-axis 15 called a
v-intercept. Substitute 0 for x 1n the equation to find the y-intercept.

50y —y=3
Hext, solve for v
—y = 3
P =3

The y-intercept of the line with the given equation 15 =3, Thus, the line
crosses the w-amis at (0, —3).

STEP 4 For graphing the given equation, first plot the points on a coordinate plane.

Ay

'y
.

'm, -3}




HNow, draw a line through the two points.

X
T4 a3 2 - a
Answer 36e.
Given equation 1s
3x+4y=12 (1)
The standard form of a linear equation 1s

Ax+ By=C
where A B and C are constants.

Rewrite the equation (1) in standard form 1s

3x+4y=12
To identify the x -intercept putting y =0 in the equation (1) and solving for x .
3x+4(0)=12 [Lety =0]
x=4 [Snlve for :r]

S0, the x -intercept 15 4.
From the x -intercept the point is (4,0).
Again, to identify the y -intercept putting x =0 1in the equation (1), and solving for y .
3(0)+4y =12 [Letx=0]
y=3 [Snlve for y]
S0, the v -intercept 1s 3.
From the y -intercept the pointis (0.3).
Therefore the x and y -intercept of the line with the equation 3x+4y =12 1z 4 and 3.



The graph of the equation 3x+4y =12 and we label x -intercept as follows:

10 Y

Sx+4y=12

-10 -8 ]

=
-

Answer 37e.

STEP 1 & linear equation of the form Ax + By = C, where 4 and & are not both
zero, 18 satd to be 1n standard form. Thus, the given equation 15 already 1n
standard form.

STEP 2 Identify the x-intercept.

The x-coordinate of a point where a graph intersects the x-amis 15 the x-
intercept. For finding the x-intercept, first substitute 0 for v in the
equation.

—5x + 10(0) = 20

Now, solve for x.

-5x = 20
-hx 20
-5 -5
x=-4

Thus, the x-mtercept of the line with the given equation 15 —4.

STEP 2 Tdentify the y-intercept.

The y-coordinate of a point where a graph intersects the y-amis 15 called a
y-intercept. Substitute 0 for x in the equation to find the y-intercept.
=5+ 10y =20



molve for v

10y = 20
10y 20
10 10
¥ = 2

The y-intercept of the line with the given equation 15 2.

STEP 4 For graphing the given equation, first plot the intercepts on a coordinate
plane.
FJLJ,
i
4
3
2e(0. 2}
1
_ (4, 0) -

4 4 4 2 - 1 2 3 4 54
-1
2
-3
-4
-5

1?

Draw a line through the two points.

A

4]

~Sx+ 10y = 20

- >
B84 3 2 -1 1 2 3 4 5y
-1
2
3
-4
-5




Answer 38e.
(Given equation 1s
—y—gp=6 (1)
The standard form of a linear equation s
Ax+By=C
where A B and C are constants.

Rewrite the equation (1) i1 standard form 1s

-x—y=6
To identify the x -intercept putting y =0 1n the equation (1) and solving for x .
—x—0=6 [Lety:ﬂ]
x=-6 [th-‘e for x]

50, the x -intercept 15 —6.

From the x -intercept the point is (—6.0).

Again, to identify the y -intercept putting x =0 1n the equation (1), and solving for y .

0-y=6 [Letx=0]
y=-6 [SD]J.-'E for _}.:]

50, the y-intercept 1s —6.

From the y -intercept the point is (0,—6).

Therefore the x and y -intercept of the line with the equation —x—y =06 1s —6 and —6.

The graph of the equation —x —y =6 and we label x -intercept as follows:
y

5




Answer 39e.

We know that the graph of an equation of the form y = ¢ 15 the horizontal line through
{0, 23, where £ 1z the y-intercept.

Thus, for graphing the given equation, plot the intercept (0, 1.5) on a coordinate plane

atd draw a horizontal line through it Every point on the line must have a y-coordinate of
1.5

p,
3
2 =15
— = =
1[0 1.5)
X
T2 1 1 2 a:
-1
-2
L
Answer 40e.
Given equation 1s
25c—5y=108 s (1)
The standard form of a linear equation 1s
Ax+By=C

where A B and C are constants.



Bewrite the equation (1) in standard form 1s

25x—5y=-15
To identify the x -intercept putting y =0 in the equation (1) and solving for x
2.5;—5{1‘3}:—15 [Letyzﬂ]
x=-06 ISlee for x]

So, the x -intercept 1s —6.
From the x -intercept the point is (—6.0).
Again_ to identify the y -intercept putting x =0 1n the equation (1), and solving for y .
2.5(0)-5y=-15 [Letx=0]
y=3 [SDI‘UE for _}:]
S0, the v -intercept 1s 3.
From the y -intercept the point 1s(0,3).
Therefore the x and y -intercept of the line with the equation 2.5x—5y=-15 1s —6 and
3.

The graph of the equation 2.5x—5y=—15 and we label x -intercept as follows:

v

-10

-5



Answer 41e.

We lnow that the graph of an equation of the form x = 15 the vertical line through (2, O,
where ¢ 13 the x-intercept.

: : : : 5 :
Thus, for graphing the given equation, plot the intercept (— -, El] ot a coordinate plane

and draw a vertical line through it. Every point on the line must have an x-coordinate of

2
A A
5 4l
X =N il
z 3
i
5 1
5]
-y
— -
4 3|2 - 1 2 3 47
-4
-2
-3
-4
Y Y

Answer 42e.
Given equation 1s
1
—x+2y=-2
2

The standard form of a linear equation 1s
Ax+By=C
where A B and C are constants.



Rewrite the equation (1) in standard form 1s

1
—x+2y=-12
2 Y
To identify the x -intercept putting y =0 in the equation (1) and solving for x .
%x+2(ﬂ]=—2 [Lety=0]
x=—4 [Suh—‘t for x]

So, the x -intercept 15 —4_
From the x -intercept the point is (—4.0).
Again, to identify the y -intercept putting x =0 1in the equation (1), and solving for y .

%[{!}+2y=—2 [Letx=0]

y=-1 [Sulw: fcr_}:]
S0, the v-intercept1s —1.
From the y -intercept the point 1s(0.—-1).

Therefore thex and y -intercept of the line with the equation %x+2 y=-2 15 —4 and

—-1.

The graph of the equation %x +2y=-2 and we label x -intercept as follows:

v

-10

Answer 43e.

STEP 1 L linear equation of the form Ax + By =, where 4 and & are not both
zero, 15 sald to be in standard form Thus, the given equation 15 already in
standard form.



STEP 2 Tdentify the x-intercept.

The x-coordinate of a point where a graph intersects the x-amis 15 the x-
intercept. For finding the x-intercept, first substitute 0 for v in the

equation.
BN =3x+6&
Mezt, solve for x.
0=73x+6
Ax = —6
r=-2

since the x-intercept 15 —2, the graph of the given equation crosses the x-

axis at (—2, 0.
STEP 3 Identify the y-intercept.

The y-coordinate of a point where a graph intersects the yv-axis 15 called a
y-ntercept. Substitute 0 for x 10 the equation to find the y-intercept.

=301+ 6
Mext, solve for v
by = 6
y=1

The y-intercept of the line with the given equation 15 1. Thus, the line
crosses the v-amms at (0, 1)

STEP 4 For graphing the given equation, first plot the intercepts on a coordinate
plane.

190, 1}

(-2,0)
5T . TR T 1

=Y




HNow, draw a line through the two points.

Answer 44e.

Given equation 1s

—34+x=0 (1)
The standard form of a linear equation 1s

Ax+By=C
where A B and C are constants.
The standard form of the equation (1), we have

—3+x=0

x=3

The graph of —3+ x =0 1s the vertical line that passes through the point [:3, U)_

So, every point on the line has a x -coordinate of 3.



The graph of the equation —34+x =0 1s shown below:

This 15 the graph of the equation —3+x=0.

Answer 45e.

STEP 1 The slope-ntercept form of a linear equation 15 y = mex + 5.
subtract V7 from both the sides to write it in slope-intercept form
y=—ix-"
On comparing the given equation with vy =mx + &, we find that s 15 -2,
and & 15 =7

STEP 2 The y-intercept 15 =7 Plot the point (0, =7) on a coordinate plane where

the line crosses the y-axis.

A,

al ¥
1

Y=

~af
4 -3 -2 -1 Tt 2 3 4 5 8 ¥ 8

-Te Ty




STEP 3 TTze the slope to plot a second point on the line. Since the slope 18 -2, or
_Tl . start at (0, =7) and then move down 2 units. Now, move 1 unit to the

right.

Y -

—ilf
4-3-?-11123455?3

R I T NN |
o B S B

-7# i, Ty

'9“"# (1.9
=10

The second point 15 {1, =9

STEP 4 Finally, draw a line through the two points.

T!—:

[




Answer 46e.
The given equation 1s
4y =16
The slope intercept of the equation of a line 1s
y=mx+bh (1)
where m be the slope of the line and 5 be the y -intercept.

Rewrite the given equation in the form (2), we have
4y =16
16
#= ? e D)
y=4
Comparing the equation (2) with the equation (1), we have
m=0b=4

The graph of (2) 1s a line with the slope 0 and y-intercept 4.

The graph of the equation 4y =16 1s as follows:

y
4y =16
‘L_ 2
- _
X
i ¥ -4 2 (0,0)2 4 6 8
Answer 47e.
STEP 1 The slope-intercept form of a linear equation 15 v =mx + &,

Divide both the sides of the given equation by 8 to write it 1n slope-
intercept form.

U -
47 2

. . . . . 1
On comparing the given equation with v =mx + &, we find that s 15 — —,

and & i3 E
2



STEP 2 The y-intercept 13 g . Plot the point [D, g] on a coordinate plane where

the line crosses the y-axis.

A,
4
{8
3 El}.; i
[
2
1
X
it o
4 3 2 - 1 P 3 4
-1
-2
=3
-4
Y
STEP 2 Tze the slope to plot a second point on the line. Since the slope 15

—l, or _?1 start at [D, g] and then mowve 1 umt down Next, move 4

4
units right

A,
4
f &%
3 : ﬂ'.; .i
"'\. —
o -1
4] s o
1
41 =% l x
i s -
4 3 2 fl 1 2 3 4
=1
-2
-3
=i
¥

The second point 1s [4, %) .



STEP 4 Finally, draw a line through the two points.

A,
4
8y = —2x + 20 S i
2 \
1 4. 3 |
| 2
e P
4 3 2 1 1 2 3 4
-1
-2
-3
-4
Y
Answer 48e.
Given equation 1s
1
dx==—y-1 (1)
2 ¥y L
The standard form of a linear equation 1s
Ax+By=C
where A B and C are constants.
Rewrite the equation (1) in standard form 1s
dx + L y=-1
2
8x+y=-2
To identify the x -intercept putting y =0 in the equation (1) and solving for x .
8x+0=-2 [Lety = 0]
x= —% [Snlve for x]
=-0.25

So, the x -intercept 1s —0.25_
From the x -intercept the point is (—0.25.0).
Again, to identify the y -intercept putting x =0 1in the equation (1), and solving for y .
8-(0)+y=-2 [Let x=0]
y=-2 [Sclve for y]
So, the y-intercept 1s —2.
From the y -intercept the point is (0,-2).

Therefore the x and vy -intercept of the line with the equation 4x = —%y—l 1s —0.25 and
—Z.



The graph of the equation 4x = —% v—1 15 as follows:

-8

Answer 49e.

STEP 1

STEP 2

A hinear equation of the form Ax + By =T, where A and & are not both

zero, 18 said to be 1n standard form. Thus, the given equation 1z already 1n
standard form.

Identity the x-intercept.

The x-coordinate of a point where a graph intersects the x-asis 13 the x-

intercept. For finding the x-intercept, first substitute O for ¥ in the
equation.

—dx = 8(0) + 12

Hezt, solve for x.

—dx =
—4x =

r =

0+12

mince the x-intercept 15 =3, the graph of the given equation crosses the x-
iz at (=3, 0.

STEFP 3

Identify the y-intercept.

The y-coordinate of a point where a graph intersects the v-axis 15 called a

y-ntercept. Substitute 0 for x 10 the equation to find the y-intercept.
4N =5r+12



Iext, solve for v

0= 8y+12
8y = —12

3
Y =Ty

The y-intercept of the line with the given equation 15 — 7 Thus, the line

. 3
crosses the w-amis at [D, _E]

STEP 4 For graphing the given equation, first plot the points (=3, 00 and (D, —%J

on a coordinate plane.

(-3, 0)
—if, -
4 3 -2 - 1 2 3 4

=Y

L3 “1_2-

Now, draw a line through the two points.




Answer 50e.

(Given equation is

38%=10% L. :
The standard form of a linear equation 1s

Ax+By=C
where A B and C are constants.

The standard form of the equation (1), we have
35x=105

_105

35
x=3
The graph of 3.5x=10.5 is the vertical line that passes through the point (3,0).

So, every point on the line has a x -coordinate of 3.

X

The graph of the equation 3 5x =105 1s shown below:

3.5x=105

This 1s the graph of the equation y=-2_



Answer 51e.

STEP 1 The slope-intercept form of a linear equation 15 y =mx + &,
LAdd 5.5x to both the sides to write it 1n slope-intercept form.
y=5ix+6

On comparing the given equation with y =mx + &, we find that s 15 5.5,

and b 13 6.

STEP 2 The y-intercept 15 & Plot the point (0, &) on a coordinate plane where the
line crosses the y-ams.

AY

3
64 (0, 6)
4
3

-

2 4 B B 10 12 14 16 18y

LJR
{ ]

STEP 3 Tze the slope to plot a second point on the line. Since the slope 158 5.5, or

g, start at (0, &) and then mowe 11 units up. Now, mowe 2 units to the

¥
1'{;}—{2. 17)

16

14
12

11
10

8
B4 (0, 6)
4
2

right.

-

= 2 4 6 B 10 12 14 16 18y

Y

The second point 15 (2, 177



STEP 4 Finally, draw a line through the two ponts.

=
~f -
4 -2 Z 4 B B 10 12 14 16 18y
-2
-4
Y
Answer 52e.
Given equation 1s
14—-3x=7» . (1)
The standard form of a linear equation 1is

Ax+By=C
where A B and C are constants.
Rewrite the equation (1) in standard form 1s

14-3x=Ty
—3x—-Ty=-14
x+7y=14
To identify the x -intercept putting y = 0 in the equation (1) and solving for x .
3x+7(0)=14 [Lety =0]
X = % [Solve for I]
=467

S0, the x -intercept 1s 4.67 .
From the x -intercept the point 1s {:4.6?, ﬂ}.
Again, to identify the y -intercept putting x =0 in the equation (1), and solving for y .

3(0)+7y =14 [Let x =0]
V= % [Sr:rh.-'e for _];]
y=2

50, the v -intercept 1s 2.

From the y -intercept the point 1s (U', 2] .

Therefore the x and y -intercept of the line with the equation 14 —3x =7y 15 4.67 and
2.



The graph of the equation 14 —3x="7y 1s as follows:

=10

Answer 53e.

First, we have to solve the equation fory. Add 5 to both the sides.
2y —9+5=04+135

2y =5

Divide both the sides by 2.
2y
2

:_|,.?=

[ R



We know that the graph of an equation of the form y = ¢ 12 the horizontal line through
{0, £), where ¢ 1z the v-intercept.

: : : : 5 :
Thus, for graphing the given equation, plot the intercept [[:], E] on a coordinate plane

and draw a hornizontal ine through it. Every point on the line must have a y-coordinate of

5

2
i,
4
- 3 2_1-5 = H‘ -
B [’ A o
2o, |
. 2
1
. -
4 3 2 1 2 3 4y
-1
-2
-3
-4
Y
Answer 54e.
Given equation 1s
Sp=75-25x 1)
The standard form of a linear equation 1s

Ax+By=C
where A B and C are constants.



Eewrite the equation (1) 1n standard form 1s
Sy=175-25x
—25x-5y=-15
25x+5y=75
To identify the x -intercept putting y =0 in the equation (1) and solving for x .
25x+5(0)=75 [Lety =0]
15
25
=3
S0, the x -intercept 18 3.
From the x -intercept the point 1s {3, ﬂ:l.
Again, to identify the y -intercept putting x =0 in the equation (1), and solving fory .

X

[Sulve for :::]

2.5(0)+5y=75 [Letx=0]
V= ? [Soh‘e fr:-ry]
v=15

S0, the v -intercept 1s 1.5,
From the y -intercept the pointis (0,1.5).

Therefore the x and y -intercept of the line with the equation 5y =75—-25x 15 3 and
1.5.

The graph of the equation 5y =7.5—2.5x 1s as follows:
¥

S5p=T7T5-25x— 0.1.5)

= % 4 2 (0,0)

-5



Answer 55e.

If a line has an x-intercept but no y-intercept, then it 1s parallel to the y-ams. Such lines
are called vertical lines. The general form of a vertical line through the intercept (e, 0) 13
x=e

Thus, an equation of a line with an x-intercept but no y-intercept 15 x = 3, where (3, 1) 13
the intercept.

Any line with a y-intercept but no x-intercept 15 parallel to the x-amis. We know that
horizontal lines are parallel to the y-ams and so 1t has only x-intercept. The general form
of a horizontal line through the intercept (0, e) 15 v =c.

Therefore, an equation of a line with a y-intercept but no x-ntercept 15 ¥y = 5, where (0, o)
15 the intercept.

Answer 56e.
Given equation 1s

¥ =mx R A i

Here we need to sketch equation (1)for several values of m | both positive and negative.
Suppose, we put m=—1,—2.1.2 1n equation (1), we have

Yy=—Xx, y=—2x,y=x, y=2x

The sketch y = mox for several values of m | both positive and negative 1s shown below:

'!.-

rFo=2x

5

Vo= —2x —



Answer 57e.
First, we have to rewrite the equation in slope-intercept form. The slope intercept form a

linear equation 12 v = mx + 5.

subtract Ax from both the sides of the given equation.
Ax + By — Ax = O — Ax

Ay = —Ax+ T

Divide both the sides by B

By  —Ax+ O
B B
:_l,.? = —£I+E

B B

MNow, compare the above equation with v =mx + b "We get:

A
mo= -
B
and
=S
B

Thus, the slope of the graph 15 — g and the y-intercept is %

Answer 58e.

We need to prove that the slope of the line y=mx+5 13m.

Suppose (x,.3;) and (x,.y,) are two points on the line.

Then m=22"21 -1

X=X

If & 1s the y-intercept, then by definition that menace that {ﬂ,b}is a point on the line

and another 1s the general point (x, y} then;

From equation (1), we get

w2 M
X—X

—b

N d.

ar—I)

y—b

W=
x

mx=y—b

y=mx+b

Therefore the slope of the line y=mx+b 158 m .



Answer 59e.

STEP 1 The slope-intercept fortm of a linear equation 15 ¥ =mx + & The given
equation 15 already in the slope-intercept form.

On comparing the given equation with vy =mx + &, we find that s 15 45,

and & 13 75,

Draw a coordinate plane and label the x-ams with “Months™ and the y-azxs
with “Cost.”™ The y-intercept 15 72, Plot the point (0, 72) on a coordinate
plane where the line crosses the y-axs.

450

375

Cost

300

225

150

754

=
\

0 1 2 3 4 5 b 7 8 9
Months
TTse the slope to plot a second point on the line. Since the slope 1545, or
?, start at (0, 72 and then mowe 45 umts up. Now, mowve 1 unit to the

right.

600
525
450

3rs

Cost

300
275
150

_—)
?51‘ (1, 120)

(0, 75)

\ P

0

#] 1 2 3 4 5 B T 84 8

Months

The second point 13 (1, 1207



Finally, draw a line through the two points.

)\,
600
523
450
8 3rs
o
100 y=45c +75
225
150
5el (1, 120)
0 .
Q 1 2 3 4 5 = T a 9
Months
STEP 2 For finding the total cost of the membership after 9 months, start at 9 on
the x-axis and mowve up until youreach the graph. Then, move left to the
V- EH1E,
),
600
925
N = e e e e e Al
450 :
- I
g 375 I
2 |
300 y=45¢c+ 75 |
|
|
225 I
|
150 :
el 1, 120) :
(0, 75) .
0 | -
0 1 2 3 4 5 o 7 i 9
Months

After B months, the total cost of the membership is about $480.

Answer 60e.

Our annual membership fee to a nature society lets we camp at several campgrounds. Our
total annual cost y to use camp at several campgrounds 15 given by

y=>5x+35

Where x 1s the number of nights we camp.
The slope intercept of the equation of a line 1s
y=mx+b (1)

where m be the slope of the line and b be the y -intercept.



Rewrite the given equation in the form (1), we have

y=5+3% {2)
Comparing the equation (2) with the equation (1), we have

m=>5b=35

Therefore the y-intercept is 35, so the point is{0,35).
Again the slope 155 or % . So, we plot a second point on the line by starting at ({},35:} and
then moving up 5 units and night 1 unit. The second point is(l,d-ﬂ].

The graph of the equation v =>5x+35 1s shown below:

F 9
}.-
451
4 p=>3xr+33

. (L40)

35 {035}

30
X
»

6 -4 2 0 1 4 6 8 10
Answer 61e.
STEP 1 The slope-intercept form of a linear equation 15 ¥ =mx + & The given

equation 15 already in the slope-intercept form.

On comparing the given equation with v = mx + &, we find that » 12 3, and

21z 1.5



Draw a coordinate plane and label the x-ams with “Tumber of games™ and
the y-azis with “Cost.” The y-intercept 1z 1.5, Plot the pomnt (0, 1.2% ona
coordinate plane where the line crosses the y-ams.

A ce)
I
32
28

24

Cost

20
16

12

&

4
L ] 5
Ir-'l {u I'-}
a 1 2 3 4 5 6 7 a

Y o

Number of games

: : : : 3
Jze the slope to plot a second point on the line. Since the slope 15 3, or —,

start at (0, 1.2) and then mowve 3 units up. Mow, move 1 unit to the right
Agg)

b
32
28

24

Cost

20
16
12

B

aI_"{l,-i,'SJ
110, 15)

Q i 2 3 4 5 & 7 a

B

Number of games

The second point 13 (1, 4.5



Finally, draw a line through the two points.
Agg)

36
32
28

24

Cost

20
16

12

Q 1 2 3 4 5 i T a

Nunmber of games

STEP 2 In a real-life context, the y-intercept often represents an initial value. Thus,
the cost to rent shoes is the y-intercept of the line, which 15 $1.50.

STEP 2 We know that a line’s slope can represent an average rate of change ina

real-life context. Therefore, the cost per game 15 the slope of the line,
which iz £3.

Answer 62e.

We purchase a 300 minute phone card. The function model
M[w}=—3ﬂw+3ﬂﬂ ...... (1)

Where A 1s the number of minutes that remain on the card after w weeks.
The standard form of a linear equation 1s

Ax+ By=C
where A B and C are constants.

Rewrite the equation (1), 1n standard form 1s
M(w)+30w=300



Therefore the graph of the equation (1) 1s shown below:

¥
3009 (0,300)
250
200
«— M(w)=—30w+300
150
100
50
(10,0)
-150 100 (08 T 50 100 150 200 250
=50
-100

Since M and w are positive,
Therefore the reasonable domain 1s: () to 10
The reasonable range 1s: (0 to 300

Here w=7
From equation (1), we have
M(w:] = —30w+ 300

=—30-7+300
=—210+300

= 90 minute

Therefore we use the card per week 15 |90 mjlmte|



Answer 63e.

In a real-life contesxt, the y-intercept often represents an initial value. The walue ofthe
card at the beginning iz §30. Thus, the y-intercept of the graph will be 30.

After you buy each smoothie, the value of the card will decrease. This means that as x
increases, ¥ decreases. Therefore, the line will fall from left to right

Answer 64e.

I and a friend Kayak 1800 yards down a river. [ draft with the current partway at 30 vards
Per minute and paddle partway at 90 yards per minute. the trip 1s modeled by
30x+90y=1800 NI 4

where x1s the dnfting time and y 1s the paddling time.

Therefore the graph of the equation (1) 1s shown below:

¥

«—3x 490y =1800

10

(60,0)

4%

Since x and y are positive,
Therefore the reasonable domain 1s: 0 to 60

The reasonable range 1s: 0 to 20
The x -intercept represent y = 0, that menace at that time the drafting time 15 0.

The y -intercept represent x =0, that menace at that time the paddling time 1s 0.



(b)

If we paddle for 5 minutes,

Then from equation (1), we have
30x+ 90y =1800
30x+90-5=1800
x=45

Therefore the total trip time 1s |
x+y

=45+5

(c)
If we paddle and drift equal amount of time then x=y.

So, from equation (1), we have
30x+90y=1800

30x+90x =1800
120x =1800

x=15
Therefore x=y=15

So. the total trip time is x+ y=15+15=

Answer 65e.

Step 1:The given equation 15 already in standard form. First, we have to find the
intercepts to graph the equation.

For finding the r-intercept, first substitute 0 for w in the equation
fr+ 3.5(01 =14

Mewxt, solve for r

br = 14
7
Fo= —
3

, . 7 . . .
since the p-intercept 13 3’ the graph of the given equation crosses the wertical

axis at (3 D].
3

substitute O for » 1n the equation to find the w-ntercept.
G0+ 30w =14

molve for w.
355w = 14
w = 4

The w-ntercept of the line with the given equation 15 4. Thus, the line crosses the
horizontal axis at (0, 4).



MNow, draw a coordinate plane and label the vertical axis as “Eunning time
thours)” and the horizontal axis as “Wallung time Chours)”. Plot the points

(% EI] and (0, 47 on the coordinate plane.

b
2

40 (0.4)

walking time (hours)

1 2

Running time (hours)

Finally, join the two points using a line segment.

b
E

5

walking time (houars)

1 2

Running time (hours)



Step 2: Lnypownt on the line 15 a possible combination of runmng and walking
times.

walking time (hours)

1 i

Running time (hours)

From the figure, we can see that three possible combinations of running and
wallking tines are =D andw=4, r=170andw=1, and r = 057> and w=23

Answer 66e.

An honor society has $150 to buy science museum and art museumn tickets for student
awards. The numbers of tickets that can be bought are given by

55+ 7a=150 R iy &
where § 15 the number of science museum tickets and a 1s the art museum tickets.

The equation (1) 1s linear. Therefore the equation (1) represents a line.
Putting a=0,5 we have 5=30,23



The graph of the equation 55+ 7a =150 15 shown below-

L
[
"

%E},ls}

5 4

-3 2

-1

]

1 2 3 4 5 6 7 8 9

M
X
L VA

100 11 12 13 14 15

From the graph we see that all the possible combination are 1n the 1 guadrant.
Therefore first possible combination of ticket that use all $150 1s

The number of science museum tickets 1s 30 and the number of art museum tickets 1s (.
And second possible combination of ticket that use all $150 1s

The number of science museum ticket 1s 23 and the number of art museum tickets is 5.

Answer 67e.

aj It 15 given that the balloon 15 initially 200 feet abowve the ground. Thus, at time § =

0, the value of & 12 200

After each minute, the wvalue of & gets increased by 120,
Arr=1A=2004+ 150=350
Arr=2 =350+ 150=200

Organize the results 1n a table as shown.,

i

(minutes)

k
(feet)

0

200

350

500

650

w00

1
2
3
4
5

950




h)

The points from the table are (0, 2000, (1, 3503, (2, 500, (3, 650), (4, 800), and
(5, 950).

Draw a coordinate plane and label the horizontal axis with “Minutes™ and the
vertical axis with “Height (feet).” Plot the points on the coordinate plane.

A i
1200
1000
[ ]
(5, 950)
% ap o
£ o (4, B00)
E .
_E 8O0 (3.-650)
= .
(2, 5040)
400
L ]
(1, 350)
200
“Teo, 200
{
0 -
1] 1 2 3 4 5
Minutes

MNow, connect the points with a line segment.

I
1200

1000
(5, 950)

(4, B04)

(3, 650)

Height (feet)

(2, 500)
(1, 350)

L
{0, 200)

o
Y~

0 1 2 3 4
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Lfter £ minutes, the balloon’s hetght & 15 the initial height, 200, plus the product of
the ascent rate, 150, and the time.

Therefore, an equation representing the problem 1s,

B= 200+ 150¢.



Answer 68e.

Me and a friend are typing our research papers on computers. The function 1s
y=1400-50x NP 4 |,
where ¥ 1s the number of words I have left to type after x minutes.
For my friend,
y=1200—-50x
where y1s the number of words I have left to type after x minutes.
The slope intercept of the equation of a line 1s
y=mx+b e )
where m be the slope of the line and b be the y -intercept.
(a)
Rewrite the equation (1) in the form (3), we have
¥y=1400-50x
y=(—50)x+1400 oo (4
Comparing the equation (4) with the equation (3), we have
m =-—50,b=1400
Therefore the slope of the equation (1), we have
m=—50
Again , rewrite the equation (2) in the form (3), we have
y=1200-50x
y=(—5ﬂ}x+12ﬂ'ﬂ (9
Comparing the equation (5) with the equation (3). we have
m=-50,b=1200
Therefore the slope of the equation (1), we have
m=-—50
The slope of the equation (1) and (2) 1sm=-50_
So the graphs of equation (1) and (2) are geometrically parallel.

The graph of two equation (1) and (2) are shown in the same coordinate plane as follows:

2000 —X
1800

1800

y=[1200—-50x — 3 =1400—-50x

1400

1200

1000

800



(b)
The x-intercept represent v = 0, that menace the number of words we have left to type

after x minutes 1s 0. Therefore no word to type .
The y-intercept represent x = (). that menace the number of words we have left to type

after x minutes 1s y . Therefore the typing of words 1s just start.

The slope m or s represent the speed of typing.
x

(c)
To identify the x -intercept putting ¥ =0 1in the equation (1) and solving for x .

¥ =1400-50x [Lety=0]
50x =1400 [Solve for x|
x=28

S0, the x -intercept 1s 28.
Again to identify the x -intercept putting y =0 1in the equation (2) and solving for x .

y=1200-50x [Lety ='D]
50x=1200 [Sﬂl‘i?f: for x]
x=24

=0, the x -intercept 1s 24.
Therefore the friend will finish the typing first.

Answer 69e.

We need to cover a five-by-five grid completely with x three-by-one rectangles and y
four-by-one rectangles that do not overlap or extend beyond the grid.

(a)
The area of the five-by-five grid 15 25square umts | therefore the equation of the five-by-
five gnid completely with x three-by-one rectangles and y four-by-one rectangles 1s
3x+4y=25.
And x and y must be whole numbers since x represents three-by-one rectangles and y
represents four-by-one rectangles.

(b)
The solutions of the equation 3x+4y =25 that are whole numbers are|(3.4)and(7.1)|.




()
Three numbers of three-by-one rectangles and four numbers of four-by-one rectangles
cannot complete the five-by-five grid since for 3 three-by-one rectangles horizontally
placed . there should be 2 four-by-one rectangles vertically placed and another 2 four-by-

one rectangles cannot complete the gnd as shown n the figure below:

smmilarly, seven numbers of three-by-one rectangles and one number of four-by-one
rectangles cannot complete the five-by-five gnid since for 6 three-by-one rectangles
horizontally placed and one vertically placed, one four-by-one rectangle cannot complete
the grid as shown 1n the figure below:

Answer 70e.
Given that
n-10whenn= (1)
Here we need to evaluate the expression (1), for the given value of the variablen

From equation (1), we get

In—10 whenn=>5

=3.5-10
=15-10
—53

Therefore evaluate the expression (1), for the given value of the vanable # 15 5.



Answer 71e.

substitute —2 for x in the given expression.
—dx + 16 =—4(-21+ 16

By the order of operations, multiplication has higher precedence than addition. Multiply
—4 by =2
A=+ 16=8+ 16

Mowr, add.
s+ 16=24

Therefore, when x 12 =2, the value of the given expression 15 24

Answer 72e.
Given that
2(11-5p) whenp=4 N
Here we need to evaluate the expression (1), for the given value of the vanable p

From equation (1), we get
2(11-5p) whenp =4
=2(11-5-4)
=2(11-20)

-2(-9)

=-18
Therefore evaluate the expression (1), for the given value of the variable p 15 —18.

Answer 73e.

substitute —1 for g in the given expression.
(4g + 5)i2g) = [4-1) + 5 ][2(-1]]

Ev the order of operations, first we have to do operations within the brackets. Inside the
brackets, multiplication has higher precedence than addition. Multiply 4 by -1 and 2 by
-1.

[4=10 + 5][20-1) ] = (4 + 5)(=2)

The next precedence 15 for operations within the parentheses. Add -4 and 5.
(—+2-2)=1{(-2)

Finally, multiply 1 by —2.
li=2)y=-2

Therefore, when ¢ 15 —1, the value of the given expression 15 —2.



Answer 74e.
Given that
m° —4m when m=—3 S § )
Here we need to evaluate the expression (1). for the given value of the vanable p

From equation (1), we get
m® —4m when m=—3
=(-3) —4(-3)
=9+12

=21
Therefore evaluate the expression (1), for the given value of the variable m 15 21,

Answer 75e.
substitute & for o in the given expression

@+ —d=(6+17-6

By the order of operations, first we have to do operations within the grouping symbols.

Add6and 1
G+1PF-6=7"-6

Then, evaluate the power.

F-6=49-6

Finally, subtract.
49 - 6=43

Therefore, when o 15 &, the value of the given expression 15 43

Answer 76e.
(iven relation 1s
{—2,—?],[(},3),(1,—2},{:—2,13),{3,—12]

Here we need to say the given relation 1s a function or not.

A function 15 a relation 1n which NO two ordered pairs have the same first coordinate.
the given relation (1), 1s a function because none of the five ordered pairs have the same

first coordinate.

S0, we can say that the given relation (1), 1s a function.



Answer 77e.

We need to represent the relation using a mapping diagram. For this, first sort the input
values and the output values in the ascending order. Then, write the input and output
values side by side 1n two rounded rectangles.

Input QOutpul
= -
-2
-2
0
0
3
1
6

2/

Draw an arrow from each input value to the corresponding output value.

Input Ouipul
om N )
-2
e ;.::LV"----‘?
L= (]
-
3
f e S
AN

If'each input of a relation has exactly one output, then the relation 15 a function. From the
mapping diagram, we can see that each input 15 mapped onto exactly one output.
Therefore, the given relation 15 a function.

Answer 78e.

The given points are
(L-3)(5.0)
The slope intercept of the equation of a line 1s
y=mx+b
where m be the slope of the line and 5 be the y -intercept.



Now, putting the point {:l,—3] in the equation (1), we get

y=mx+b

—3=m-1+b

—S3=lm+b (2)
Again, we putting the point (5,0) in the equation (1), we get

y=mx+b

O=m-5+b

0=5m+b ooz )

Subtracting the equation (2) from (3), we have
0+3=5m+b-—m-5b

3=4m
3

m==
4

Therefore the slope of the line passing through the points (1,—3)(5,0) is |m =

= | 2

Answer 79e.
The slope m of a nonvertical line passing through the points (21, 30 and (x2, w18
= YT M

S |

For finding the slope of the line that passes through the given points, first substitute —7
torya, 1fory, 6 for x2, and =2 for xp.

-7-1
M= —
6 - (-2
Evaluate.
-8
m o= —
B
= -1

Therefore, the slope of the line that passes through the given points 158 -1

Answer 80e.

The given points are

(4.4)(8.4)
The slope intercept of the equation of a line 1s

y=mx+b (1)
where m be the slope of the line and b be the y -intercept.



Now, putting the point {4, 4] in the equation (1), we get

y=mx+b

4=m-4+b

4=4m+b 2
Again, we putting the point (8,4) in the equation (1), we get

y=mx+bh

4=m-B+b

4=8m+b 3)

Subtracting the equation (2) from (3), we have
4—4=4m+b—-8m->b

0=—4m
m=0
Therefore the slope of the line passing through the points (4.4)(8.4) 1s |m =0

Answer 81e.

The slope #2 of a nonwertical line passing through the points (x1, y1) and (x2, ¥2) 15

sy = 24 L

T AR

For finding the slope of the line that passes through the given points, first substitute 8 for
va, Sfora, =0 for xo, and 2 for 2.

B—>5
M= —
-5 -2
Ewaluate.
3
mo= —
=7
3 _3
5

. . .3
Therefore, the slope of the line that passes through the given points 13 — —.

Answer 82e.
The given points are
(6.—3)(1.-13)
The slope intercept of the equation of a line 1s
y=mx+b R | &
where m be the slope of the line and 5 be the y -intercept.



Now, putting the point {ﬁ,—_’-}) in the equation (1), we get

y=mx+b

—3=m-6+b

—3=6m+b R .
Again, we putting the point (1}—13} in the equation (1), we get

y=mx+b

—13=m-1+5b

-13=1m+b i sms R
Subtracting the equation (2) from (3), we have

-1343=1m+b—-6m—>b

-10=-35m

m=2
Therefore the slope of the line passing through the points (6.—3)(1,—13) is [m=2

Answer 83e.

The slope m of a nonvertical line passing through the points (x1, ) and (x2, ya) 15
YT M
o=

o=

For finding the slope of the line that passes through the given points, first substitute —4
forwa, Oforyy, =355 for 22, and 2.5 for x1.

-4 -0

2 R ——

—35-25
Evaluate.
—d
m o= —
&
__2
-3

: : L . 2
Therefore, the slope of the line that passes through the given points 13 —E.



